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7 F 2Ty A kW E O A B g/l 0. 1UTF < 0.01 < 0.01
v 7 v 1t & Ml mg/1 1T <0.1 <0.1
=l L i 1t & | mg/1 10T <0.1 <0.1
i K (o) z 2] & & il me/1 0. 1UTF < 0.01 < 0.01
N il 7 = L 1t & il me/1 0. 5UTF < 0.05 < 0.05
w % K v x o A A& | mg/l 0. 1UTF < 0.01 < 0.01
KE K T v F LK Z O KA A | me/l 0. 005LF < 0. 0005 < 0.0005
7o x v ok @ o A& | me/l BHI RN & < 0.0005 < 0. 0005
A U #H ok v 7 = = A mg/l 0. 003LTF < 0.001 < 0.001
kU oz v om o= Foov v omg/l 0. 3LTF < 0.001 < 0.001
7 b 7 7 w owm = F L v mg/l 0. 1BTF < 0.001 < 0.001
v % = = A 5 “ mg/1 0. 2LF < 0.02 < 0.02
rffl s s 13 F# meg/l 0. 02LF < 0.002 < 0.002
1, 2 — 2 7 w ow = & v ng/l 0. 04lF < 0.004 < 0.004
1, 1 — ¥ 7 oo = F L v mngl 1LF < 0.02 < 0.02
YA -1, 2 Y27 unaoxF L ngl 0. 4LF < 0.04 < 0.04
1, 1, 1 —~FU2Znmna=xi o ngl 3LLF < 0.001 < 0.001
1, 1, 2 —hV2Zzwna=xg | ol 0. 06LLF < 0.006 < 0.006
1, 3 — Y 7 v wu 7 o 2 v mgl 0. 02LF < 0.002 < 0.002
¥ v 7 4| mg/1 0. 06LLF < 0.006 < 0.006
> < v v mg/1 0. 03LTF < 0.003 < 0.003
¥ Ex ~ v H L 7| meg/l 0. 2LF < 0.02 < 0.02
~ v + o mg/1 0. 1BTF < 0.01 < 0.01
t v oy Kk Oz o b & P e/l 0. 1LF < 0.01 < 0.01
1, 4 - v o F x ¥ v myl 0. 5LF < 0.05 < 0.05
- ES J — L bl mg/1 5LF <01 < 0.1
Wk o oEx o A B mg/l 3T <0.1 <0.1
modh Kk O o b & W mg/l 2L 0. 07 0.04
gk O ofe s (B Mg [ ng/l 10LLF <10 <10
T~ H RO EOlLEY (B RE) mg/1 10LTF < 0.5 <0.5
7 v A K O T o b & P mg/l 2L <0.1 <0.1
H oo HF Kk O E o & & W me/ 8L < 0.5 <0.5
E S F K OO o bt & | mg/l 10LLF < 0.10 < 0.10
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